
III.

I.

25

26 7911-632B

6536-017

2001-053
M6x35 Hlf csavar

22

2001-484
M5x20 Hf bk csavar

18400-300

6152-1901

24911-151

246152-1900

Product.: Lang

1. Seite
Belső használatra !

216152-1898

20 8700-151

M6x16 Df csavar
2001-042

III.

3

2001-015
M5x6 Bkny hernyócsavar

M5x8 Sf csavar

5025-003A

2001-017

II.

I.

II.

IV.

IV.

4 6536-015

2002-005
M6 Anya

2001-110
M6x16 Hf bk csavar

2001-110
M6x16 Hf bk csavar

K4500 Paris Glas

23 6152-1899



Product.: Lang

2. Seite
Belső használatra !

10

8 1982-011
2003-020

2001-042

M6 Íves rugós alátét

M6x16 Df csavar

2001-015
 M5x6 Bkny
hernyócsavar

7 9900-1156

95540-300A

9900-389 5

12

69900-1157

2001-341
M5x10 Df csavar

K4500 Paris Glas

8 1982-011

2001-239
M5x10 Sf csavar

6630-085A

2004-032
112005-003



K4500 Paris Glas

Product.: Lang

3. Seite
Belső használatra !18 3711-145

13

14 6081-600

136081-599

15

16 6081-602B

195490-077

Feuerraumauskleidung
(9900-777B)

6081-599         2 Stück
6081-600         2 Stück
6081-601         2 Stück
6081-602B      1 Stück
6081-621A      1 Stück
3411-145         1 Stück

1.
Reihenfolge:

Lage des Feuerablenkrahmen

6081-601

6081-599

176081-621A

8.

1.

5.

6.

8.

2.

7.

4.

3.


